Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	1314			Date Regis	- site bi	lls	01/09	12022
Company Name:	MP	/		Site:	5101		MFI	
Name of Contractor	Niks		a a				- 47	
Nature of work		ש וכטנגו						
Work done	From Da			08/20	2L T	o Date	28/0	8/2022
Sl. Villa/Flat/block no	O. Qty.		Rate		Units	Amou	int	Contractors bill no
O Plastering wo	rle 177	1-60	16.	UD	SP-	28,	336-00	
(Steps	3	00	120	·00	Nob	36	D. 0D	
3 Electrical poles	2,	00	100 .	00	Nds	20	00 - U	
4. pe destals @ TOFI	107							*
(4) Hanholes OFillas								
6. Bouch walk		-00	13	00	5/1	-	3,00	
7. plestering wave	16	סטי	16	(D)	5/-		8-05	
	C 01						860,00	•
10. Add.	<u>GS</u>	1	187	<u> </u>		5,22	4.00	
	otal:	4				31.	45.00	1-
Bill required	₽YES (□ NO.		GST	bill requ		₽YES	
Measurement &	Requir	red		Meas	surement	&	Enclo	sed
estimate sheet:	□ Not re		0		nate shee		□ Not e	
PO/WO no.				PO/\	VO date:			
Remarks:								
				9				2
							7	,
	•				74			
•	ä							
Approved by Project Ma	nager	Appro	oved b	y Des	ign Tean	n Ap	proved by	i M.D.
Date: \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	$\sqrt{}$	Date:		·	·	Da	te:	
Sign:		Sign:				Sig	ın:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable—fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Equipment Allowance

N.Krishna. H.No : 8-34/5/2, Balaji Nagar, Jawahar Nagar. Hyderabad.

Date: 30-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:
Type of Work:

82/1. Mallapur Civil Works

Towards:

Allowance for Equipment.

S No.	Description Description	Amount
	Brief description of work done: Towards Plastering work and steps at filtration room, Pedestal casting for electrical poles at tot-lot area work. Total amount = Rs.34,645.00/- Work done from date 09-08-2022 to 28-08-2022	Rs.13,858.00/-

Amount in Words: Thirteen Thousand Eight Hundred and Fifty Eight Rupees Only.

Bill for Labour charges

N.Krishna.

H.No : 8-34/5/2, Balaji Nagar, Jawahar Nagar. Hyderabad.

Date: 30-08-2022

In favor of:

MPL MFP

Project / Site: Location:

82/1. Mallapur

Type of Work: Towards:

Civil Works. Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards Plastering work and	
	steps at filtration room, Pedestal casting for electrical poles at tot- lot area work.	Rs.11,945.00/-
	Total amount = $Rs.34,645.00/$	KS.11,945.00/-
	Work done from date 09-08-2022 to 28-08-2022	

Amount in Words: Thirteen Thousand Eight Hundred and Fifty Eight Rupees Only.

Sign:	

Bill for Consumables

N.Krishna. H.No: 8-34/5/2, Balaji Nagar, Jawahar Nagar. Hyderabad.

Date: 30-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur Civil Works

Type of Work: Towards:

Allowance for Consumables

S No.	D	
	Description Brief description of work at the second secon	Amount
	Brief description of work done: Towards Plastering work and steps at filtration room, Pedestal casting for electrical poles at tot-lot area work.	Rs. 6,929.00/-
	Total amount = $R_{s.34,645.00/-}$	
	Work done from date 09-08-2022 to 28-08-2022	

Amount in Words: Six Thousand Nine Hundred and Twenty Nine Rupees Only.

Sign:	
-------	--

	Amount in words					4 Manhole @ Filterroom	3 Electrical Poles @ TOT LOT	2 Steps	1 Plastering work		S.No. Item	Date:	Contractor Name:	Control N. Description:	Work Door	Project:	ESTIMATE SHEET
	:- Thitry Four Thou		-			room	TOT LOT	-			Item Head						
-	Amount in words :- Thitry Four Thousand Six Hundred and forty Five Rupees Only				Plastering Work	Brick Work	Pedestal Casting				Item Description	30.08.2022	N.Krishna	Civil Works	May Flower Platinum	MPL	
-	Rive Rupees Only				16.00	16.00	2.00	3.00	1,771.04	-	Quantity		-			Prepared by:	
		Total Amount	GST 18%	Amount	Sft	Sft	No's	Sft	Sft		Units						
		ount	0		16.00	13.00	100.00	120.00	16.00	-	Rate					R. Ashok	
			-		256.00	208.00	200.00	360.00	28,336.64		Amount						
		34,645.56	5,284.92	29,360.64							Grand Total	-					

			-	-			
MILL	Prepared by:		R. Ashok	-			
May Flower Platinum				2			-
Civil Works							
N.Krishna							
30.08.2022							
	Α	В	C				
	Length	Width	Height	Nos		Units	Total Head
			0	gr			-
Lower Basement R/W	30.00	1.00	10.00	2.00	600.00	Sft	
	25.00	1.00	10.00	3,00	750.00	Sft	. (1)
At Filterroom	14.66	1.00	9.50	2.00	278.54	Sft	9
	5.00	1.00	9.50	3,00	142.50	Sft	1,771.04
At Filterroom	1 00	1 00	1 00			:	
			95	3,00	1 1 1 1 1 1 1 1 1 1	200	3 00
Pedestal Casting			1.00	3,00	3.00	Nos	3.00
	1.00	1.00	1.00	3,00	2.00	No's	3.00
Brick Work	1.00	1.00	1.00	2.00	2.00	No's	2.00
	1.00	1.00	1.00	3,00 2,00 1.00	2.00	No's No's	2.00
Plastering Work	1.00 8.00 8.00	1.00 1.00 1.00	1.00	3,00 2,00 1,00	2.00 16.00 16.00	No's No's	3.00 2.00 16.00
Plastering Work	1.00 8.00 8.00	1.00 1.00 1.00	2.00	3,00 2,00 1,00 1,00	2.00 2.00 16.00 16.00	No's No's	3.00 2.00 16.00 16.00
Plastering Work	1.00 8.00 8.00	1.00 1.00	1.00 2.00 2.00	2.00 1.00 1.00	2.00	No's No's No's	2.00 2.00 16.00 16.00
Plastering Work	1.00 8.00 8.00	1.00 1.00 1.00	1.00 1.00 2.00 2.00	3,00 2,00 1,00 1,00	2.00 2.00 16.00 16.00	No's No's	3.00 2.00 16.00 16.00
Plastering Work	1.00 8.00 8.00	1.00 1.00 1.00	1.00 1.00 2.00 2.00	3,00 2,00 1,00 1,00	2.00 2.00 16.00 16.00	No's No's	2.00 2.00 16.00 16.00
	MPL May Flower Platinum Civil Works N.Krishna 30.08.2022 Lower Basement R/W At Filterroom At Filterroom	Prepau Platinum Len	Prepared by: Platinum A Length Width 25.00 1.00 1.00 5.00 1.00 1.00 1.00	Prepared by: R.Ash Platinum A B Length Width Hei 25.00 1.00 14.66 1.00 5.00 1.00	Prepared by: R.Ashok Platinum A B C Length Width Height No 25.00 1.00 10.00 14.66 1.00 9.50 5.00 1.00 9.50	Prepared by: R.Ashok Platinum A B C Length Width Height Nos Quantity ent R/W 30.00 1.00 10.00 2.00 600.00 14.66 1.00 9.50 2.00 750.00 14.66 1.00 9.50 3.00 142.50	Prepared by: R. Ashok R. Ashok Platinum Platinum R. Ashok R. Ashok Image: Compared by: R. Ashok Image: Compared by: Image: Compared by: R. Ashok Image: Compared by: Image: Compare